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Problem I:

T=150kN

Fig. 1.2

1) Determine the magnitude and direction of the resultant force for the system of forces
shown in Fig. 1.1.

2) Refer to Fig. 1.2, If 8=60° and T=150 kN, determine the magnitude of the resultant force
for T and Fg and its direction measured clockwise from the positive x axis (where Fg is
the resultant force determined from part 1) "use the parallelogram law". (35points)

Note: FBD must be included
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Problem I1:
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1) Determine the magnitude of the components of F; acting along and perpendicular to the
line of action of force Fs. .
2) Determine the coordinate direction angles of the force F3 such that the resultant of the
“three forces Fi, F> and F5 is zero, (35 poinds)

Note: FBD must be included
Calculations:
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Problem IT1:

The cords BCA and CD can each support a maximum load of 0.5 kN: Determine the maximum
weight of the crate and the angle 6 for equilibrium. (30 points)

Note: FBD must be included
Calculations:
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Good Luck!



